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R AR QS

%31 RREBHEHR

— EFB

1.C; 2.D; 3.A; 4.B; 5.D; 6.D.

ZEHEE

1.8m;5 2.23m/s; 3. —a'rBi—of (Acoswti+ Bsinwtj) ; 4.1—12&4—1;0:—10.
= GBS

1. (Dv=Ax/At=—0.5m/s; (2)v(2) =—6 m/s; (3)S=2.25m. 2.v=2(x+z2*)"2.
%2 EAEz HAIED

— e

1.B; 2.B; 3.D; 4.C; 5.A; 6.A.

TUHE S

1.0.1 m/s?; 2.v,+bty /B> + (v, +bt)'/R*; 3.4 m/s*,0; 4. gsinf, gcosh.

= 3rE S

l.v,=vt:/t:=8 m/s, a,=32 m/s’, a.,=16 m/s’, a=(a’+a?)"*=35.8 m/s’.

2.t=[2h/(3g)]"*=0.37s, MIET% T 13.8 m.
%33 1IhF0RE

— EFE

1.B; 2.C; 3.B; 4.A; 5.C; 6.D.

T

1.12]; 2.2GMm/(3R),—GMm/(3R); 3.9.8], 0,—5.8]; 4.mgl/50.
=R &E

1.31]. 2.85=v"/(2ug).

%34 HiE HPRE HIER

— I E
1.A; 2.C; 3.D; 4.D; 5.A; 6.C.
s
1.20; 2.4s,—15m/s; 3.mr’/2,MR*/2,=; 4.Ry:Rs,1:1,1:1, Ry :R,.
= JtEE
1.a=3gsin 60°/(21)=33g/(4]), w=[3g/20)]"". 2'“:1255'
%35 REFE RAHEFE—TE
— R

1.B; 2.A; 3.B; 4.D; 5.B; 6.D.



s

1.N/V,N=NM/M,,; 2. KB BEMER:>FHEsEERT FHIES D FRSNEE:
3.166 J;  4.(2),(3),(2),(3).

= HEE

1.0.082 m?;0. 033 kg.

2.a*(1/V,—1/V,);V,/V,.

%36 ZHEIRE SR
—
1.A; 2.D 3.D; 4.B; 5.C; 6.D.
ZH

1.124.7 ], —84.3]; 2.A,AE,Q; 3. —4.19X10°J,2.09X10° J;
4.2/G+2),i/i+2).

BN

1.405.2 J;0;405. 2 J.

2.4.74X10° J.

%37 YRABAEE FEEAR

—

1.C; 2.B; 3.D; 4.A; 5.B; 6.D.

e - 8|

1.1.33X10° Pa; 2.210 K.240 K; 3. /5. ZWS Rt 5248,  4.0,-T/m.
= ItEE

1. (136.21X10 %" J, /o7 =+/2e,/m=483 m/s; (2)300 K.

2.1.61X1074, 10°°], 0.667X10°%J, 1.67X10*]J.

%38 BESKNKNE HHR BERE

— EFRE

1.B; 2.C; 3.D; 4.C; 5.C; 6.C.

. - g |

1.1.29X10 *m/s; 2.(2),(1) 3 3.1:2:4; 4. LK. IEH.
= RS

1.1.31 kg/m*,1.04X10 * J,4.27X10 " m & 3.44X10"° m.

2. A=3/500 000,54. 8 m/s.

%39 ¥

— EEE
1.A; 2.C; 3.B; 4.D; 5.B; 6.B.
2



e = - ]

1.2.0; 2.Acos2nt/T—xn/2); Acos2nt/T+=/3); 3. WEZ2>] 1;
4.0.2 rad/s,—0.02sin(0. 2¢+0. 5) (SI),0. 02 rad/s.

= ity

1. 2=5X10 *cos(7¢t+0.64) (SD.

2.(3.0m/s; (2)—1.5N.

%310 ERHEE ERBDEMR

— EFEE

1.B; 2.A; 3.D; 4.C; 5.C; 6.D.

ZEEE

1.9.9X10° J; 2. |A;—A,|;x=]A,—A,| cos(2xt/T+=/2);
3.0.05cos(wt—x/12)(SD); 4.5.5 Hz,1.

=R

1. 2n{(2ML) /[ 3(Mg—+2kL)]}"*.

2. x=x, tx,=2X10 *cos(4t+=/3)(SD).

%311 HE ZLHBN

— EFEE

1.B; 2.A; 3.D; 4.D; 5.A; 6.A.

LT

lL.x=(k+1/2)(A/2)(k=0,1,2,3,).

2. 2Acos(2nx /AL n/2—2xL/A)cos(2rvttn/2+@—2xL/2).

3.v.(u—wvg)/u. 4.802 Hz.

=.TEE

1. y=y,+y,=Acos(wt+2nx/A) +Acos(wt —2xx/A) =2Acos2nx/Acoswt.

2. (D y,=Acos[ 2rn(x/A—t/T)+xn]; (2)y=y +y,=2Acos2rx/A+x/2)cos2nt/T—x/2);
W 2= n—1/21/2(n=1,2,3,) T 2=nA/2(n=1,2,3,+).

i zh F0 I K 7R
— EEE
1.C; 2.E; 3.D; 4.D; 5.B; 6.C; 7.A; 8.C; 9.A; 10.E; 11.B; 12.B;
13.D; 14.C; 15.C.
s
1. 2,=0.02cos(4nt—2x/3)(SD; 2.3wc m/s; 3.0; 4.100k+50 m(k HEEED ;
5.300; 6.5]; 7.802 Hz; 8.0.84; 9.y,=0. ZCOS(%KI_';_‘K)(SI); 10. 935 Hz.
= HEE
1. (1Dy=0.1cos2n(2t—x/10)(SD; (2)y;,=0.1m; (3Du=—1.26 m/s.
2. (Dy=3cosUdnt+nx/5—n)(SD), y,=3cos(4nt—147/5)(SD;

(2)y=3cos(dnt—xx/5)(SD), yp=3cos(dxt—14dx/5)(SD.
3. (Dy,=Acos[ 2r(t/T—x/2)+3x/21(SD;  (2)y,=Acos[2x(t/T—r/A)+3x/2](SD).



4. (1)y,=0.05cos[ 2x(£/0.05+x/4)J(SD; (2)y=7x,+y,=0. 10cos(xz/2)cosd0nt(SI),
x=2k+1(k=0,%£1,%+2,++), =741 m,+3 m.

%312 XHETHE XNETH X2
— IR
1.C; 2.D; 3.D; 4.B; 5.B; 6.B.
ZEEE
1. 2ndsind/A;  2.2n(n—1)e/2;4X10"; 3.DA/dn; 4.2x(n,—ny)e/A.
=R
LB —RALEAHERE Ax,=DAr/a=0.72 mm,
BHEHLEOH TE Ar; =5DAA/a=3. 6 mm.

2.0,11 m;7.
%313 HEFHF B
— ERE
1.C; 2.B; 3.C; 4.C; 5.B; 6.C.
AW
1.1.40; 2.2/C2L); 3.5A/(2n0); 4.n 6 =n,0,.
= tE s

1.A=600 nm, A=428.6 nm.
2.1.7X107* rad.

2314 kM X SHERNETH

— EEE

1.B; 2.D; 3.D; 4.D; 5.B; 6.C.
A

1. 916; 2.1; 3.0,%x1,%+3,%5,; 4.0.170 nm,
=R

1. A0=0,—0, =0. 043",
2. (DAz=2ftanf,~2fA/a=0.06 m; (2)k=0,+1,+2 % 5 ZEHMATH ER K.
%315 kWK IER
— kS
1.B; 2.C; 3.B; 4.C; 5.C; 6.D.
TVHE
L <Pl i 5, AP S E TS 2. WE%S 2;
3. Ap=al; 4.355 nm,396 nm.
=& 8
=0 AFHth & miR e R & I7 0 SR A P 8RRz 1L 77 15 F
1%
IO | IF BA
.
4




(KFEWE (L)X ERE
— R

1.D; 2.A; 3.C; 4.A; 5.C; 6.B; 7.C; 8.D; 9.D; 10.A; 11.B; 12.C;

13.C; 14.B; 15.C.

ZEEE

1. Ae ”[(F —w’)cos wtt2Pwsinwt ] (m/s?).

2.mri t (F/r5—1)/2; 3.0.5 kgem?; 4.200]; 5.mu’/(3k); 6.4/2T,;
8.1.40; 9.7; 10.916.

=.itEE
1. (1)y=0. o4cos[zn(§—ﬁ)—ﬂ(sn,
(2)y=0. 0dcos 0. 4nz—37")(sn

2. v=at=mgt/(m+%M).

3.9=37.5%.
4, s, Mzl 0=31/(n—1).
%316 mTER

— EHEE
1.D; 2.A; 3.D; 4.C; 5.B; 6.B.
—HEHEE
1.0/(2e0) M1 /5 30/(2e0) s [/ 50/ (2e0), M A.
2. —Q/eo s —2Qr,/(9ne R*) , —Qr,/(2ne, R*).
3. (Q1+Q4)/eo Q192 q93qs s %Eﬂ 4. 2RIE.
= tE&E
LA |z|<a E={2pasin[xz/(2a)]}/(xe,),

#Hoh x| >a E=2pia/(neo) s

H >0 FmmEA, Y <0 FEmA.
2.Eo=pa/(2e0) FWMA,

Ep=pd/(2e,) —mna’/(12e0d*)  Filal[a] /£

%317 BEFNARREE BB
— kP
1.A; 2.C; 3.B; 4.D; 5.D; 6.A.
TUHEB
1-8K2R(*/EQ1+~/§%+ZQZ); 2. Edcosa; 3.—q/(6ne,R); 4.—2X10 7 C.
0
=8 E

R R.

.u=JE . dr=fE|dr+JEzdr+JE3dr
r r 1 2

7.2%/3;



=p(R;—R})/(26,) =3Q(R: —RY) /[8me, (RS —R1) .
2. (DU, ~U, =[E, « di=/2re.)InCr,/r,);

(2) TCRR KA H HER AR IO BR Ak Jy i B 5, M e Al R E AR R ER K 7,4
K E=1/Cre.r) NFE .

(1R el
— R
1.D; 2.D; 3.D; 4.D; 5.B; 6.C; 7.A; 8. B; 9.B; 10.B; 11.D; 12.C;
13.D; 14.C; 15.A.
A
1.xd /ey sAd /[ dmeo (R* —d*/4) |, K101 48 s 2. F/4; S.ﬁ(ﬁql‘l—ﬁq;ﬁ*qg);
0

4.1 ,<; 5.Q/(4ney R ,0,Q/ (dneyR) s Q/ (dmeyrs).
=M

1. R=3a.

2.Co=C./L=ne,/In(d/ry).

3. (Dpd, /(e FmA;  (2)p4d* —a®) /(12e,d") J5 ] ] £
4. p(3R* —rt —2Ri/r,) / (6e,).

%318 RIENKER

— HEPEE

1.B; 2.C; 3.D; 4.C; 5.D; 6.A.

— s

LERRE L BTGl R B, R L b A a0 5 5 N 9 5

2.0y 0, 2umI; 3. —p IS, /(S +S,); 4.0.

=R

1. B=B,=y,dI/[2x(R* —R"*)].

2. (D¥MZIE B=B,+B,=uJ,(2)WHZ45, B=B,—B,=0.
%319 RiEH BLEAN

— EFE

1.D; 2.B; 3.C; 4.A; 5.B; 6.B.

R

1.IBR; 2.10 %, x/2; 3.0.157 N+ m,7.85X10° 2] ; 4.y2BIR,¥% vy fhiE[4].

= tEH

1. (DM, =P,Bsin(x/2)=1a’B=9.4X10 ‘m + N, (2)§=15".

Z.F:/jnI]IZ/ZS ﬁr“_”"ﬂﬁ-
6



%320 BEBNERE HERDE

— R
1.D; 2.B; ‘3.D; 4.A; 5.C; 6.D.
TVHE
2 2

1.%meosw,%; 2.>,<,=; 3.BwR*/2;E#i&kdh.0omsh; 4. 202 Bwsing.
=R

o _&l a+b-dI s e e
1.e.——dCD,,,/dt—an[b—(a—i-b)l }d[ —5.18X107°* V, 5 E/RHH 4

:ngSing o — (B2 P cost )1/ (mR) :ngSina
g B lcosi0C ¢ ) U T B %cosih

%3121 BAEBZHE B

— EFEE
1.A; 2.D; 3.C; 4.B; 5.B; 6.D.

THZS

1.er, (dB/dt)/(2m) s[04 ;eR* (dB/dt) / (2rym) s [0 F 5
2. pon*lma® s ponlyma’ weoswt.

3.e=nR*k/4, N c TRE b.
YA L]Lz %ll

=LA

1. xR* (dB/dt) /4N 5 i e $7.
Inzei/R:/_lnonaZ/(ZLRto)7 ﬁr‘ﬂ%ﬁﬁ%ﬁ[ﬁ]_’ﬁ

PR A % R ) K R

— EREE

1.B; 2.D; 3.C; 4.C; 5.D; 6.C; 7.B; 8 A; 9.D 10.C; 11.C;
13.A; 14.B; 15.D.

B i< 5]

1. "‘—11 “;H, 2. BScos wt»BSwsin wt kS; 3. WIE T, x B J5
nrie Eq o H/RC
RC
=tEm

2
1. e B, [
4 TEY M,

2. (/3rna*B/120) sin(27xnt/60).
3.e,=—d®/dt=—(2n/3)Bya*wcos wt 24 e, >>0 W}, B B F 05 I Bf 41 77 15

4. M ; 5. lwB/8, 0.

o= (o )

12. B;



% =0 bt e s o= LR,

%322 HEXRNFEAM

— ERR
1.A; 2.C; 3.A; 4.B; 5.C; 6.D.
ZEHEE
LMy 283080 3.5.81x10° 7, 8.04X10 7 g
2 2 v
ab(1—%)

=tE 8
1. T=2x(m,+E;/c*)/(gB)=7.65X10"" s.

2. Al=vAt=vr,y=c /1—(E,/E)*t,E/E;=cty v/ (E/E})*—1=1.799X10* m.
%323 # | 5§

— ERR

1.A; 2.D; 3.C; 4.D; 5.C; 6.B,

—HEE

1.0.64; 2.9.3X10 °m; 3.2.4X10° K; 4.1.42X10° K.

= rES

1. (DT=b/A,=5.794X10* K;
(2)P=M(T)S=¢T"'4nxR:=3.67X10* W;
(3)P'=P/S =6T"4xR%/(4xL?)=1.30X10° W/m’.

2. (v, =c/An=c/(b/T)=cT/b=3.11X10" Hz;
(2)P=M(T)S=0¢T'4xR:=2.34X10° W.

%324 BEHFTEE TWMEXER

— JEFEE
1.D; 2.C; 3.D; 4.A; 5.B; 6.D.
ZHEB
1.1.46 A,6.63X10 % m; 2.?3;
3.6.63X10 8 1.06X10 *,3.32X10"*, 0.53X10 *;
h
Zm,E'
=. iR E
1. (DA, =h/p,=h/(2¢eBR)=9.98X10 " m=9.98X10 * nm;
(2)A=h/p= h/(mv)= h/[m(2¢eBR/m,)]=[h/(2eBR)](m,/m)= (m,/m)A, =6. 62 X
107" m.
2. (DA =h/p=hc/[(eU +2m,c*) eU]"*=8.74X10"" m;
(2)A=h/p=h/2mel)"* = h/(2m,el)"*=1,23X10"" m;

8




%325 BFAFEN

— EFEE

1.D; 2.C; 3.D; 4.D; 5.B; 6.C.
L HEE

Lvs=wv +wv,,1/2: =1/ +1/2,.

2 BT ¢ BB r Ab ORER R AL AR 2, | @)t dadyde=1.

3.a/6, a/2, b5a/6.

4.2

=R
1

l.x=—a.

2
2. c=4/30/0° P=J.(I) |ledx=_r;3012(l—‘.r)zdx/15=l7/81=21%.
pigao kxRl eg- ]
— JEFEE

1.D; 2.B; 3.B; 4.D; 5.C; 6.C; 7.C; 8.D; 9.A; 10.C;

13.D; 14.D; 15.D.
s

1.0.25m,c*; 2.12.09; 3.3.29X107%J; 4.h/ (2 /2mE), 0;

6. moc*(n—1); 7.0.586 8% 2—/2; 8. /4; 9.9.
2m('U_'U())

= tE S
LW =m,Ct [—21 _— 1 | =4.72X107" |
. 1
-% -4
—=2.95X10° eV.

2.U=2.12 V B}, S BR A BB BT
3. (1Dhv=hc/A=2.86 eV.

(2)k =2,n=5.

A KGN R, FLH 10 Kk, WE% S 3 T KBREN

ZHn=5KT8 n =1 K%Lk,
(4) .
4.2= he
/\/E?(_‘_ZEKTYIUCZ
M Ex<moc® B sA=he//2Exmoct=~h//2Exm, ; "

% EK>>7VL0C2 H:j- y/1~hC/EK.

E%>33

n=

n=1



R BRZR W)
A S

31 W E®R
— R
1.C; 2.C; 3.C; 4.D; 5.D; 6.B.
Iz R
1. Tcosﬁ—mg:O; 2. Cug /M5 30 (il T maly Fmaly)w” smy (L 1) 5
4.460 m,5.5X10° N,

Fi:“(“

= LOtEM
. _F—Gntmyatmyglg_ E —
e m+tmy+my m—+myt+my &

T(x)=(96+24x).
2. (Dv=w,e *'m;

(2)x=mwv, /k.
%32 HE PEFEEE
— R
1.C; 2.C; 3.B; 4.D; 5.A; 6.A.
A

1.2J; 2.18 Nes; 3.180 kg; 4. FAt,/Cm,+my), FAt,/(m, +m,) +FAt, /m,.
= ItEE
1.1, = “/ngdzzmgrrr/v,ﬁﬁﬂ M.
L=I—1 =2muv,i— (mgnr/v)j
HAMNH L=[C2muv,)*+ (ngrr/v)* ]"* =ml4ut 4+ (gnr/v)* ]'*
5Y #idk i «=arctan(l,,/I,,) =arctan[ 2mv,/(—mgnr/v,) ]=n—arctan[ v}/ (xgr) ].
2. N=N,+N.,=3pgz=3G.

%33 AMHE NEHD

1.E; 2.D; 3.A; 4.B; 5.D; 6.A.

1.38 kg * m*; 2.—%]w5; 3.%(00; 4.R v, /R, ,(1/2)mv? (R?/R:—1).

SN

1.M,=3.92X10 *m N,
T=0.4896 N,
J=1.468 kg + m".

2. v=(2M/m)[ gL(1—cos6/3]'".
10



715 I e

— IR
1.C; 2.C; 3.C; 4.A; 5.C; 6.B; 7.B; 8. A; 9.D; 10.C; 11.C; 12.C;
13.C; 14.E; 15.C.

T S

1.mgbk, mgbtk; 2.7,1F; 3.—kw6‘ ﬂ: 4.2275 kg » m*/s,13 m/s;
9J kw,
2GMm
3R ¢ O-mmEy

=R
1.5 N;£0.2 m.

2. vh =22+ ;W=(3mrﬁwf/2)+%mv2.

3.10. 3 rad/s*;9. 08 rad/s.

4.t:2"'12 m.
pm, g
%34 BEHRIE FEBER
— EEE
1.A; 2.B; 3.A; 4.A; 5.C; 6.D.
< =3}

1.33.3%,50%,66.7%; 2.200]; 3.V,.,(V,/V,)" '"T,, (RT,/V.)(V,/V,)""; 4.500 K.
= A
1. —6232.5J;3739.5 ];3456 ];13.4%. 2.13.4%.

%35 RANFE_ETE FETHE

— EPRE

1.A; 2.D; 3.C; 4.B:; 5.A; 6.C.

Sl

1. ARBE,#HZE 15 2.C,In2; 3 W8I, ANATfY; 4. A48, 3.

S - ¥

RIn10.

9 i e

AN IEff 5

05 P 388 o i 2R R - e R (R A B ST ) 400 R AR K AN D /D B A A (B PR BRI ST ) & A
] R R TEAR AT S AR A n .

P i

— BEFEE
1.D; 2.C; 3.B; 4.B; 5.C; 6.C; 7.C; 8C; 9.C; 10.C; 11.C; 12.D;
13.B; 14.A; 15.D.



S

3 S 8bVo . s , Lymip Ly [2pV.
L. ZPoVovZPan 3R 2.<; 3.7, m; 4.(3) To,(a)’po, 5. M
5
= HEE

1.31.8 m/s;33.7 m/s.
2. KSR & ¥ m 2 s 8 sh D i,
3. (DFERE R . AE, =%RT1 W, =%RT1 .Q,=3RT,,

5
IR AF, = — 5 RT\ W, = 2RT, 5Q. =0,

LR ERTRR . AE, =0;W,=—2.08RT,;Q,=—2.08RT,.
(2)30.7%.
4. (1)T,=400 K,

T,=636 K,

T.=800 K,

T,=504 K,

(2)E,=9.97X10° J.

(3)W=0. 748 X 10° J.

%36 HIx HEahAHRE
— EEE
1.B; 2.C; 3.D; 4.A; 5.A; 6.B.
ZEHEE
1.m F,mE,mE; 2.0 lcos(4nt—m)(SD);—1.26 m/s; 3.x/30; 4.3,300.
= HEBE
1. (1) y=0. 04cos[ 2n(¢/5—x/0.4)—=/2](SD; (2)yp=0.04cos(0. 4xt—3x/2) (SD).
2. (1) yp=0.06cos(nt+m)(SD; (2)y=0.06cos[n(t—x/2)+=](SD; (3)A=4(m).

%37 KHER BEHTH

— EEE
1.A; 2.B; 3.C; 4.D; 5.B; 6.C.
ZVEHEE
1. y=2X10"*cos(200nt—nx/2—7/2); 2.R;/Rj.
L |_ae
A >
3. A% 1 B I
B
NG 1
Eg1
4.5 J.

12



